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Level 2 Balancing Equations Work Shown:
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[bookmark: _GoBack]Work for 5-20 written out. Please see Return of the lego atoms for 1-4.
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Level 2:
9. 2NH,+30, —» YNO + (pH,0

10. 2C,H,, + 150, —[0 CO, +ItH,0
11. 280, + 0, — 9S0,

For number 11-13, please write the skeleton equation. Include descriptors. No need to balance.

12. When potassium bromide is exposed to chlorine gas, potassium chloride and bromine are
produced.

Py 2 el | —_
KB+ T > KCl, + Br,

) ﬁzs)

13. A white powder, ammonium chloride, is formed when hydrogen chloride and ammonia
gases are mixed.

Hel + NHy, — AlCig

14. Magnesium sulﬁdg ‘Hoduces magnesium sulfate and clouds of odorous hydrogen sulfide
when mixed with sulfuric acid.

Mg8,,+ HQSOM——; MgS0q + HaS )
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